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Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to dis @iﬁcation of the candidate.
Write your Question Paper g\lo. 59/088S/2, Set— on the Answer-Book.
(@)  The Question Pap é\ English/Hindi'medium only. However, if you wish, you can answer in any
one of the lang@ isted below :
English, Hindji du, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, K i, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are red to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write-the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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[Maximum Marks : 100

g ¢ 3 gue] [quiis : 100
Note : (i)  All questions are compulsory.
(1)) Marks allotted to each question are indicated against it.
(iii)) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
Mot ¢ (@) |l we & SR AT
(i) Y% 9T & Y SHe o fag T ¥ )
(i) 997 & 1 ¥ 10 9% & TAd 99F. H AR [a&ded — (A), (B), (C) a1 (D)
g, fo i ¥ e w99 Suged ® | 9l faeedt ¥ ¥ 98 IO g qur etue
ST-gRadr ¥ U dE & 9F. X fad | sg-faeedr sl & fag
Al g9 Hﬁ fear s |
-
K\Q
1  Marginal utility ca%&ver be ... 1
NS
(A) zero Q\

(B) equal t%Q[otal utility
(C) greater than total utility

(D) negative

(A) @ & = whar |

(B) P Iudiftar & IUEX EF & Gahdr |
(C) & Iuwafar ¥ orfe <& & |@ahal |
(D) #omcA® &l & |l |
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2 Demand curve of a firm is perfectly elastic under : 1

(A) Perfect competition (B) Monopoly
(C) Oligopoly (D) Monopolistic competition
TE ®H 1 AT 9% QUIGAT @EeR B .
(A) o gfoaifar o (B) umfuer #
(C) T o (D) UHIHHRIES Ffaaiiar o
3 Which of the following is not a flow ? 1
(A) Expenditure (B) Money supply
(C) National income (D) Sales
frafafed & § dF-a1 vaw T g 7
(A) =1 (B) =1 emyfa
(C) g ema (D) fassr
4  The value that divides the series into two parts is called «..... 1
(A) Median (B) Mode
(C) Quartile Deviation (D) Arithmetic average
Joft &I 3 AF H A I T Bl TS BEA & ...
(A) wtee (B) wgw®
(C) agda® (D) st e
5 A firm’s total fixed cost is Rs. 50. Its total cost of producing 5 units 1
is Rs. 200. What is its average variable cost when 5 units are produced ?
(A) Rs. 50 (B) Rs. 40
(C) Rs. 30 N (D) Rs. 10

TH T A FA REOLEET 5500 | TR 5 AR IEIRa B & B @I
% 200 % 15 SATed HH I 3EH offEd gikadl @nd F® e 7

(A) & 50 @$ (B) = 40
() = 30 (D) = 10
6  Primary deficit is equal to ..... 1

(A) Revenue deficit + Interest payment
(B) Fiscal deficit + Interest payment
(C) Borrowings — Interest payment

(D) Total expenditure — Interest payment
R AR SUET B § .

(A) TG =R+ N YA 6

(B) UM =Rl + & YIaE %

(C) #U — & YAE %

(D) Pa =g — AN AH &
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7 The value of coefficient of correlation varies from ....... 1

(A) 0 to1l B) 1 to -1
(C) 0 to -1 (D) 1 to infinity
TeHeY Ui Bl I ......
(A) 09 1 d%s & dhal & | B) 1§ -1 d% = Fbal & |
(C) 0¥ —1 d% & qhal & | (D) 1 § o9 d% = Gl & |
8  Growth of resources results in ....... 1

(A) downward movement along production possibility curve.
(B) rightward shift of production possibility curve.

(C) upward movement along production possibility curve.
(D) leftward shift of production possibility curve.

HaeEl @ H@ghg BN W ...

(A) JERA WHEET 9% Ad @ S o ¥ |

(B) SMEA e 9% IR MR Rewsd &R 'O

(C) TR GHET g% HUT @l 8T o & |

(D) S@EA e 9% SR ok Rage S ® O

9  Value of investment multiplier is equal to ...... 1
(A) MPC (B)" MPS
1
©) MPC %@ D) MPS
Ry e @ BATE ..
(A) dmra W % (B) dMr d=d g &
*X@
c NN D !
(©) o swwm wg % D) e 7w w9 ®
10 An economy’s-gross domestic product at factor cost is Rs. 8,000 crores 1

and its gross.national product at factor cost is Rs. 7,000 crores. Then

net factor income to abroad is .....

(A) Rs. 15,000 crores (B) Rs. 1,000 crore

(C) —Rs. 1,000 crores (D) None of the above

g ATl B HIE @R X 9hd B sdiE &, 8,000 HUs ¥ ofiR wred
A W GhA TR SR 6. 7,000 HUs 7 | faeen @ faw |ew oma % o

(A) . 15,000 H3s (B) % 1,000 &
(C) -%. 1,000 ®= (D) SUad ¥ ¥ B3 A&l
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11  Give the meaning of real and nominal gross domestic product. 3

Irtas o Hifse dohd Oiq SdE & o SRy |

12 State any three characteristics of index numbers. 3

Tasia B B3 dF fg9vad gaEy |

13 Describe the measure of value function of money. 3

5T 6 e BT AU B Bl AU DI |

14 Explain the problem of ‘What to produce’. 3
T IARA B B FIRT GHARY |

15 Explain the “interdependence” feature of oligopoly. 3
SR &l “sfafiizar’ fasivar wwsmsy |

16 State the difference between micro economics and macro-€conomics. 3

fte ardamer it gufle srforey & I X ¥ARET |

17 Explain the meaning of excess supply with the help of a schedule. 3
UH IAE B Heddl § Y SNfued bl 0 @EsEy |

18 What is meant by absol% and relative measures of dispersion ? 3
ST o Prde ot e W 4 9 IaEe |
S
19 Define "investm@b'multiplier". What can be its maximum and 3

minimum value\:
“Fraer U’ bl aRHTT TG | g8t Sifan o <gAAH e T B "ahdl © 7
20 Explain the meaning. of : 3
(a) Budget line.and (b) Budget set.
(31) ;9 [@r 8 (@) 9ol 92 & ord gHFEU |

21 The price elasticity of demand of a good is (—) 1. At a price of Rs. 10 4
per unit its quantity demanded is 200 units. What will be its demand at
a price of Rs. 12 per unit ? Calculate.
Th I B AN B dEd @ () 1 E 1% 10 Ui FEE BEd 9X gHe A
AT 200 3613 &1 6. 12 Wi 3 M X 3@l "0 fhaet R 7l
HINY |
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22 Distinguish between direct tax and indirect tax. Give an example of each. 4

g Y AT U H WE HINT | YAH Bl Th SR ST |

23 Complete the following table : 4
frefafea aifdesr @& g @itig -
Output Total Cost (Rs.) Marginal Cost (Rs.) Average Cost (Rs.)

(Units)
IqE (2) Fa @@ (%) = arE (8.) Aad @ (5.)
1 50 e s
2 e 40 e
K 45 e
4 184 e e
24 Explain the different phases of law of variable proportions. 4

uftedt ergural & fem & fafs axon @ sren i . |

25 Calculate net value added at market price : 4

Rs. in 000 crores

(1) Change in StOCK .......o.eeerieieeriieeeeitieeenneenns 50
(ii) Value of outpu K\Q .................................. 3000
(iii) Depreciation .G .. buee i ceenceeceeeeeenene. 60
(iv) Intermedi Q(:zz)nsumption .......................... 1500
v) Indirec%%xes .............................................. 300
(Vi) SubsSidies .......tciiioiiieeeiieeeeee e, 50
TR WA WX fad ged ghg &1 aleed @i ¢

5. 000 &
(i) Wi H G oo 50
(i) TEET BT T oo 3000
(iil) FIITEIE oo, 60
(iV) AT TUHT .o 1500
(V) BTG T oo 300
(vi) SN TERIAT ..oooviiiiieeeeeeeeeeeeee 50
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26

27

28

29

Describe the functions of Central Bank as a banker to the Government.

GIHRN & 9h & &9 § HT b & HEAl B AT BT |

State whether the following statements are true or false. Give reasons
for your answer.

(i) Total product falls only when marginal product falls.

(1)) Average cost will rise only when marginal cost rises.

(iii) Average cost will be constant only when MC is constant.

qary, ffafed a9 @& € @1 g, oMe IOX & fou @ difvio o
(i) P IURE B d9 Hal & 9 AN SAE Tl & |

(i) W @ d & ged WX B ofEd @ S Tl |

(iii) ofEd @Fd %ad a9 RUT Bl & & G @R RUX Bl & |

Explain equilibrium level of income based on aggregate demand
and aggregate supply. Use diagram.

I w9 iR Y gfd WX o S o W dged. gueEy |
@S &1 YA BT |

For Blind Candidates in lieu of Q. No. 28
Faq fedm vl & fou gew W 28 & wWH W

Explain two alternative ®oaches of determining equilibrium level of income.

mew&ﬁ%maﬁaWWWl

AP
Calculate gro&&\%atlonal product at factor cost.
(Rs. in 000 crores)

(1) INtEreSt ..o tieee it 600
(i1)) Compensation of Employees.......cccceovuveevvieennreennnen. 5000
(111) Rent ..ocooiiiiiii e 400
(iv) Net factor income from abroad ..........ccccccevvveenen. =50
(V)  Net Indirect taxes .....ccccvveeeeerireeeeeeiiieeeeeeieeee e e 150
(V1) Profit. ..o 1000
(Vi1) NEt EXPOITS cuvvieeeriieeiiieeiieeeeieeeeireeereeeereeeeveee e —200
(viii) Employee’s contribution to social security ............ 1000
(1X) Depreciation ..........ccoeceeeeeriieennieeeniieeiie e 200
59/055/2-318-B | 7 sﬁf?‘

Download all NOTES and PAPERS at StudentSuvidha.com

[ Contd...


http://studentsuvidha.com/
http://studentsuvidha.com/

30

31

32

A AR UK Ghd Tl IdE &l I bivd |

(. 000 HU=)
(1) BT eveeeeeeeee et 600
(i)  BHTE BT TIIRIB oo, 5000
(1i1) TBTT oo 400
(iv) fagemt & e "M ST oo - 50
(V) THEE STHRIE BTerivoeoreieereeeeeeeeeeeeeee e 150
(VD) TTH ettt ettt e e e e e e e e aaeeaaianes 1000
(vil) e SR, 200
(viii) HHEAIREl BT AHINE GLAT § AREN .o, 1000
(iX) PREMEE (TR BTE) oo 200

Calculate arithmetic average by step deviation method.

g fageam fafyr o st Arew &1 afteed eifig |

Marks Number of Students
0 - 20 20
20 — 40 30
40 — 60 40
60 — 80 10

Explain the effect of &)llowing on the demand of a commodity.

(a) Increase in in Q?}e of the buyer
(b) Rise in pr'c%éf substitute good.

W%@@ﬁqﬁwqﬁaﬁwaﬁmmz

(@) AT FowE F ghe
(@) v 9y @ &Fa H gfE

Explain any-three properties of coefficient of correlation.

TEHdYy Tuich bl fhel aF fasiuarett @ w@mEn sty |
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